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SHOW ALL WORK TO RECEIVE CREDIT. ~

1. Barium carbonate has a measured solubility of 4.04 x 10” M at 25°C. Determine K.
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2. Tt is found that the concentration of Pb*" in a saturated solution of lead(II) chloride is 1.6
x 107 M. What is K, for PbCl,?
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3. The hydroxide-ion concentration of a saturated solution of Cu(OH), is 8.0 x 1077 A7,
What is the solubility product constant for Cu(OH),?
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4. Rank the following salts in order of increasing molar solubility.
Salt K
» BaSO,  1.1x10™"
3 AgCl 1.8 x 10"
Y/ BaCOjs 9.1 x 107
; 1 Cds 8x10%
Lewdm 7 ppso, 1.8 x10°
A) CdS < AgCl <BaCO; < BaSO, < PbSO,
B) PbSO, <BaCO; < AgCl <BaS0, < CdS
C) CdS < AgCl < BaSO, < BaCOj; < PbSO,
D) PbSO, <BaCO; < BaSO, < AgCl < CdS
é CdS <BaS0y < AgCl < BaCOj; < PbSO,
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5. What is the hydroxide-ion concentration of a saturated solution of Zn(OH),? For

Zn(OH)y, Kyp = 2.1 x 107, -
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6. What is the pH of a saturated solu’uon of Mg(OF)z? For Mg(OH),, K, = 1.8 x 107"
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7. What is the concentration of silver(T) ion in a saturated qolutlon of silver(T) carbonate
containing 0.0052 M Na,CO3? For Ag,CO;, K, = 8.6 X 10712
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8. Suppose 50.00 mL of 2.0 x 107 MFe(NO )s is added to 50.00 mL of 2.0 x10™* M KIOs,
Which of the following statements is true? For Fe(IO3);, K, = 1.0 X 1074,
A) A precipitate forms because Q. > K. I 0.~
B) A precipitate forms because O, < K. e (ID_Q ) = ‘ + 3 I
C) No precipitate forms because Q. > K.

(D) No precipitate forms because Q. < K. Q Z Fe . 9 EI \7 3
E) Nothing happens.
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